Informational Report for the November 18, 2014 Board of Trustees Meeting

Professional Expert Appointments

First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum		U	Assign End Date
ommunity Educat	ion									
Ι.	P.	Chabot	No	Teach voiceover classes to Community Education students	Community Education	\$23.60	15	\$354.00	11/18/2014	12/31/2014
Mary Lou	nmi	Chabot	No	Teach Cake and Cupcake Decorating to Community Education students	Community Education	\$30.00	24	\$720.00	9/29/2014	12/31/2014
Emerlita	A.	Chabot	No	Teach Dance to community education students	Community Education	\$35.00	8	\$280.00	11/15/2014	12/20/2014
Elaine	nmi	Chabot	No	Teach the Mystery Shopper Class to Community Education students	Community Education	\$19.60	10	\$196.00	10/24/2014	12/31/2014
Bill	F.	Chabot	No	Teach computer classes to Community Education students	Community Education	\$45.00	16	\$720.00	11/8/2014	12/6/2014
		Chatter		enrichment workshops and courses for Chabot's Hayward Promise Neighborhood	Community	f 00 00		¢4.050.00	40/00/004	12/31/2014
	Name Ommunity Educat I. I. Emerlita Elaine	Name MI ommunity Education independent of the second sec	NameMISiteommu-ity EducationII.P.I.P.Mary LounmiChabotEmerlitaA.ElainenmiBillF.Chabot	First MI Site Emp to ommuty Education Image: Site Image: Site Image: Site Image: Site indext in the second	First NameMISiteEmp to DistrictDutiesommunity EducationIIII.P.ChabotNoTeach voiceover classes to CommunityI.P.ChabotNoEducation studentsMary LounmiChabotNoEducation studentsEmerlitaA.ChabotNoEducation studentsEmerlitaA.ChabotNoEducation studentsElainenmiChabotNoEducation studentsElainenmiChabotNoEducation studentsBillF.ChabotNoEducation studentsBillF.ChabotNoEducation studentsChabotNoEducation studentsTeach the Mystery Shopper Class to CommunityBillF.ChabotNoEducation studentsBillF.ChabotNoEducation studentsBillF.ChabotNoEducation studentsReach computer classes to CommunityEducation studentsCommunityBillF.ChabotNoEducation studentsReach computer classes to CommunityDevelop and implement curriculum enrichment workshops and courses for Chabot's Hayward Promise Neighborhood	First NameMISiteEmp to DistrictDutiesDivisionommunityEducationImage: SiteImage: SiteImage: SiteImage: SiteImage: SiteommunityEducationImage: SiteImage: SiteImage: SiteImage: SiteImage: SiteImage: SiteI.P.ChabotNoEducation studentsEducationImage: SiteImage: SiteImage: SiteImage: SiteImage: SiteI.P.ChabotNoEducation studentsEducationImage: SiteImage: Site	First NameMISiteEmp to DistrictDutiesDivisionHourly Rateormunity Education </td <td>First NameMISiteEmp to DistrictDutiesDivisionHourly RateMaximumommunityAAAAAAAAommunityEducationII<!--</td--><td>First Name MI Site Emp to District Duties Division Hourly Rate Maximum Maximum ommunity Education I Image: Community Education I</td><td>First NameMSiteEmp to DistrictDutiesDivisionHourly RateMaximumMaximumAssign AmountmultipeducationImage: SiteDistrictDutiesImage: SiteImage: Site<</td></td>	First NameMISiteEmp to DistrictDutiesDivisionHourly RateMaximumommunityAAAAAAAAommunityEducationII </td <td>First Name MI Site Emp to District Duties Division Hourly Rate Maximum Maximum ommunity Education I Image: Community Education I</td> <td>First NameMSiteEmp to DistrictDutiesDivisionHourly RateMaximumMaximumAssign AmountmultipeducationImage: SiteDistrictDutiesImage: SiteImage: Site<</td>	First Name MI Site Emp to District Duties Division Hourly Rate Maximum Maximum ommunity Education I Image: Community Education I	First NameMSiteEmp to DistrictDutiesDivisionHourly RateMaximumMaximumAssign AmountmultipeducationImage: SiteDistrictDutiesImage: SiteImage: Site<

* Weekly hiring limitations are to be monitored by the hiring manager *

Informational Report for the November 18, 2014 Board of Trustees Meeting

Professional Expert Appointments

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	•	Assign End Date
Chabot College											
Agbayani	Catelyn	M.	Chabot	Yes	Teach 2014 swimming clinic to Community Education students	Health Sciences, Physical Education & Athletics	\$15.00	60	\$900.00	11/11/2014	12/31/2014
Davis	Asti	J.	Chabot	No	Work as a Project Lead for the disadvantaged youth summer sports program	Special Programs & Services	\$18.00	132	\$2,376.00	6/16/2014	7/18/2014
McGregor	Diana	J.	Chabot	No	Collaborate with Early Childhood school teachers and staff for professional development	Social Sciences	\$50.00	20	\$1,000.00	10/1/2014	12/31/2014

Informational Report for the November 18, 2014 Board of Trustees Meeting

Professional Expert Appointments

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Las Positas College											
Edward	Camille	R.	Las Positas	Yes	Provide skills evaluation and assessment for fire service technology	Science, Technology, Engineering, Math & Public Safety	\$15.00	50	\$750.00	11/12/2014	12/31/2014
Hogue	Terrance	А.	Las Positas	No	Provide services as a program trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$75.00	90	\$6,750.00	10/1/2014	12/31/2014
Money, II	Lawrence	J.	Las Positas	Yes	Provide mandated services for ADA compliance as an ASL interpreter to include sign language and note taking services	Disabled Student Programs and Services	\$50.00	100		11/10/2014	12/31/2014
Money, II	Lawrence	J.	Las Positas	Yes	Provide mandated services for ADA compliance as an ASL interpreter to include sign language and note taking services	Disabled Student Programs and Services	\$50.00	500	\$25,000.00	1/2/2015	6/30/2015
Rogers	Glenn	М.	Las Positas	Yes	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$25.00	50	\$1,250.00	11/12/2014	12/31/2014

* Weekly hiring limitations are to be monitored by the hiring manager *

Informational Report for the November 18, 2014 Board of Trustees Meeting

Professional Expert Appointments

	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Sison	Lucas	J.	Las Positas	Yes	with National Registry Skills	Science, Technology, Engineering, Math & Public Safety	\$25.00	90	\$2,250.00	11/3/2014	12/31/2014
Weissman	Ryan	N.	Las Positas	Yes	Provide program skills coordination for	Science, Technology, Engineering, Math & Public Safety	\$25.00	50	\$1,250.00	11/12/2014	12/31/2014